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1. (20 points) Let : (1,0,-1), ?J} = [1,1,1) and i (1,—2,1). Lot flz.9,2)=21"", gle,p2) =

2 2

x —y+ z and h(u,v) = u® — v°.

I

Find th%c:osinu of the angle between P and ?, and find the equation of the plane containing P
¢ and R.

Compute the following quantities if possible; if not possible, state why not:
o) (BxQ)x (P 1)
(i) (V)(P)-G.
o (ii1) f(g(1,2,3),9(2,3,1),9(3,1,2)).
(

o (iv) f(f;, (j,ﬁ)

You are at the point ﬁ In what direction should you move to sec g(x,y, z) increase the fastest?

&

. Let A(u,v) = f(h(u,u), h(u,v), h(v,v)). Using the Chain Rule, compute ?—ﬁ at the point (1,1,1).

You may check your answer by computing ‘;’% directly, but if you do not do the chain rule you will

receive () points.

Let f(x,y) = 324y and g(x,y) = x? +y2. Find the maximum and minimum values of [z, y) given
that g(x,y) = 1.



